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Write the units and dimension.of Plank's constant. : ’ 1
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State the number of significant figures in the following :
(1) -2.300400 ~ (ii) 2.64 x 1024
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Can earth be regarded as a point object when it is revolving around the SUN? Why. 1 l
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If action and reaction are equal and opposite, why do they never cancel each other? 1

5. =gl =t o 4 st st Wi wdt 2 http://www rbseonline.com

What type of energy is stored in the spring of a watch? 1
6. AT T Bl 9 Wit g 1 W W w4 Forr gt et st o @ 2

A light and a heavy body have the same momentum. Which one will have greater kinetic

energy? - - )
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Define surface tension. ' i
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Write first law of thermodynét_nics. - 1'

9. Cp, Cyd il sftF dME ("
. Why Cp is greater than CV' ; _ 1
10. TR Y e & TN TG € | WA 9 -y e ffad ‘
What do you meant b}f degree of freedom. erte degrec of freedom for diatomic gag, |
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Convert 1 erg into Joule. 1
12. ﬂﬁ‘;{fﬁ A- B‘ A A 3B & v s gm0
ke .
I;L,;-a- Bl ‘ A-— B Find the angle between them. :
13. O] T T WHRI o ¥ | | '
. Show that friction is a self adjustable force. - | 2
14. 4 S G 1 HU F G W FR |
State work - energy theorem and derive it. 2
15. wiEs R o9 9 ogell A 9 B R Tom-orem aa e 9% an § e wee: 10 AL @
20 AL 7905 WA, F 10 AR, s w0 F 1 af agel F wAm m, = 50kg, mg = 100kg
A T I i 2rferen v |
Satvik and Vansh applied force on two'body A and B seprately and change their velocity
10 m/s to 20 m/s and 5 m/sec to 10 m/s respecuvely Find out whose work is more if -
m, = 50kg, mz = 100kg. 2
16. —aﬁuﬁamwﬁf@ﬂt&nw&ﬂmsﬁﬁmiﬁmﬁl '
State Bernoulli's theorem. Write velocity head, pressure head. . 13244=2
17. U o1 S ) < 100% ok Sgife og @ g € wwened ) o
A heat engine with 100% efficiency is only a theoretical possibility. Explain. 2
18. ﬁﬁawwwﬁwm%ﬁ@awwwﬁn%mﬁﬂﬁﬁmmﬁ
(C./C,) MR T@ = |a- 10 _ z
Write Maxwell's energy distribution law. Find (C,/ C,) ratic of molar specific heat
monocatomic gas. |
19. % @ iy fagia =1 wR wfwerd fafe@ ) hitp://www fhscenlinescom
Write four postulates of Kinetic theory of gases. . 2
20. fag =it fr N9 TR Tonw Ea TSR o0 =1 S |
- Show that area expansion coefficient is twice of Linear expansion coefficient? 2
21, T EEy W i it )
Write_Mayor's relation and derive it. : 3
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plath e tB Young's modules.
(i) W“P’mﬁﬂmﬁﬁﬁllu -
Why girders are made of “I"" shaped?
(iii) U WREe 9, 96 v ¥ U Teed g € i 2 :
Why hotlow rod is more stronger than solid rod? | 1+1+1=3
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A projectile is projected with a speed of 30 m/s-at an angle 60° to the honzontal Calculatc:

(i) fee S (The maximum height it wﬂl reach and)
(i) W& (Its time of flight) =
(i) &fTI ™ (Horizontal range) 1 3 1+1+1=3
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State impulse-momentum theorem and derive it.
@) mh"@mwmﬁ%?mﬁmmmﬁmmmﬁl ¢
What do you meant by bankmg of. a road. ' Find out maximum safe vcloc:ty
(i) mqﬂmmwﬁgﬁmmmﬁml
Deduce safe velocity of a cyclist.in c:rcular path | 4
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Find Magnitude and direction of resultant vector usmg triangle law of vector addition.

(iiy fog wifo f s A-|+2] _3k, B= 21+43 _6k TER G § |

Prove that vector A-1+2_1 3l-c B 21+4_| 6k are parallel to each other.
e 989 F fagra =) fafied qon afcm ane g3 9a St R
Write Rocket Propulsion principal. Deduce relation for final veloclty 4
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What do you meant by projectile motion. Find out maximum height : For a projectile
projected at an angle B form horizontal— http://www rbseonline.com '
(i) ertereran F=1§ Maximum height (i) EE 9y (Path of projectile)
(iii) &fTs W™ (Horizontal range) (iv) W& %7 (Time of flight)
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